1.

ke 2ol C7F 90° % A 77t

AABCOA cos B9l 2 ?

oflh

5 9 ) A
2 e he 9
@?1 ®g @ 8 \\
® - ® = .
\
O \
C~ - B
S
cosB:E:§
AB 9




O 27 Fcosx A2 g2 2= A
< 1% Zehet

H7]
DE BC |
@ 5 © 5 © siny
AC BE
@ BC @ NG ® tany
> =
> G
> HED O
> Ee: ©
AABC o ADBE©| B2
DE AC DE AC
COS X = — = =C, Siny: — = =CO]E]-.
BD AB BD AB

w2tA] cos x & B2 A2 —, siny °|t}.




3.

& A9 gre?
sin? 30° + sin? 60 ° — tan 30 ° x tan 60 °
® V3

D 33 @ 22

@ 2 (@)0

B

sin® 30 ° + sin® 60 ° — tan 30 ° X tan 60 °
2
12 V3 1
== 4+ — —x143
2 V3

2

1 3
——4+-_1=0
4+4




o

>
> &

83

B

sin 30° =

o|B=E x =4 oJt},

N —
%

tan 30° =

S ojJBR y=2v3 o[t}
x=4, y=2V3 o|BZ wZtA| xy =83 o[t}




ohe DT Zo] AREL Y THL} x Hu} o] WO of
Fe Ao 712 =t S o, y BH ¢ o] g Aot (F,
sin 27° = 0.45, cos27° = 0.89, tan27° =0.51 = 75“’;_]"‘?}‘:]')

o

>
> Heh: c=0.51

tan 27° = ?

OC =1xtan27° = 0.51




@ sin32°=0.52
O cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34

@ 3cos44°=2.1

2= AbQl(sin) | F AFQI(cos) | B E (tan)
31° 0.51 0.86 0.60
32° 0,52 0,85 0.62
33° 0.54 0.84 0.65
34° 0.56 0,83 0.67
35° 0.57 0.82 0.70
36° 0.59 0,81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0,78 0.81
40° 0,64 0,77 0.84
41° 0.66 0.75 0.87
42° 0.67 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0.97

[
=

>
>

0
o
@

cos44° = 0.72°]| 22 3cos44° = 2.16 ©|t}.




thgo] gz mot 19e Fue v, (1) 7 (2) 9] Fe vhEA A2
]_

Zte sin cos tan

34° 0.5592 0.8290 0.6745
35° 0.5736 0.8192 0,7002
36° 0.5878 0.8090 0.7265
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